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37.| Sasha is facing SE. She turns in a
clockwise direction to face NW.
N
NW NE
We » E
(0]
SW SE
S
(a) What fraction of a whole turn does
Sasha make?
Answer
(1 mark)
(b) How many MORE degrees must
she turn in order to face North?
Answer 2 317.
(1 mark)
38.| Complete the table below.
Diagram | Name | Number| Number
of of of of
Solid Solid Faces | Corners
(a) (b) (c)

(1 mark) (1 mark) (1 mark)

38.
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39.| Study the diagram below and answer the
questions that follow.
Q
(a) Calculate the value of g and r.
Answer q =
r —
(2 marks)
(b) Circle the term which BEST
describes the triangle PQR.
Equilateral Right-angled
Isosceles Scalene
39.
(1 mark)
DO NOT WRITE HERE—I KC (2) AT (5) PS (3) TOTAL (10)
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40.| The pie chart below shows how
Mr Samuel spends his salary for the
month.
FOOD
OTHER
RENT
Calculate his monthly salary if he spends
$1800.00 on food.
Answer $ 40.
(2 marks)
(N , - o i
DO NOT WRITE HERE | KC (1) AT (1) PS (0) TOTAL (2)

GO ON TO THE NEXT PAGE
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SECTION III

Each question is worth 5 marks. Answer ALL questions.
Show ALL working in the Working Column.

Do Not
No. TEST ITEMS WORKING Write
COLUMN Here
KC| AT| PS
41.| Richie's marks for the three subjects in
an examination are shown on his report
below.
Richie’s Report
Subject Maximum, Marks
Marks | Obtained
Essay 100 70
Mathematics 100 80
Language Arts 100 60
Total 300
(a) Calculate the TOTAL marks Richie
obtained for the examination.
Answer marks
(1 mark)
(b)  Express the total marks that Richie
obtained as a percentage of the
maximum marks for the test.
Answer %
(2 marks)
(c) How many MORE marks did Richie
need in order to get 80% on the
test?
Answer marks 41.
(2 marks)

GO ON TO THE NEXT PAGE
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42.| Ata fair, four plastic bottles with numbers
on them are lined up as shown below.

For every turn, a person is given three
balls to knock down three bottles. The
numbers are added and a toy is given

for some EXACT scores as shown on the
table below.

Tov Score
Rabbit 49
Bear 46
Parrot 40
Monkey 39

(a) Candy knocks down three bottles
marked 18, 9 and 12.

Which toy does she win?

Answer

(1 mark)
(b) Candy wants to win the bear.
Which THREE bottles should she
knock down?

Answer

(2 marks)

(¢) Candy knocks down the bottle
marked 9. Which toy will she NOT

be able to win?

Answer 42,
(2 marks)

DO NOT WRITE HERE | KC (3) AT (5) PS (2) TOTAL (10)

GO ON TO THE NEXT PAGE
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43.| The shape of a floor shown below has
two portions, an equilateral triangle (A)
attached to one side of a square (B) with
sides of 12 m.

(a) Complete the following statement:
The perimeter of the ENTIRE floor

s m

" (1 mark)

(b)  The square portion (B) ONLY is to
be covered with tiles.

(1) TheareaofBis mZ.
(1 mark)

(11) Bistobecovered using square
tiles with sides measuring
30 cm.

How many tiles are needed?

Answer tiles
(1 mark)

(i11) One of the tiles to be used for
covering B costs $4.00. How
much will the tiles cost if 10
extra ones are added in case
any break?

Answer $ 43.
(2 marks)

GO ON TO THE NEXT PAGE
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44.| Complete Akeem’s shopping bill below.
Item |Quantity| Cost |Amount
Paid
(a) | Crayons | 3 boxes $4.50
per box
(1 mark)
(b) | Stickers 40¢
each
(2 marks) (1 mark)
Total $21.50
(c)| VAT 10%
(1 mark)
44,
DO NOT WRITE HERE | KC (3) AT (5) PS (2) TOTAL (10)
GO ON TO THE NEXT PAGE
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45.| The shaded triangle at P is moved to
various positions, Q, R and S.
Q ™
%7
- X
1 8
R |
Describe CLEARLY the movements in
EACH of the following:
(a) PtoQ
Answer
(2 marks)
(by RtoS
Answer
(1 mark)
(e) PtoS
Answer
45.
(2 marks)
DO NOT WRITE HERE | KC (1) AT (2) PS (2) TOTAL (5)
L I gt = 1 1 1 1 . |

GO ON TO THE NEXT PAGE
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46.| Six boys ran the 100 m race. The time
(in seconds) taken by each boy is shown
in the graph below.

Time taken to run 100 m
14

12

10

A |

A AN e VAo,
AL NN e VD NN
AN o VA0 H

WA AAAANA A A YD,

Time (seconds)
A YA AN A S Y

Che Don Eze Fred
Boys

=
o
=

(a) Who won the race?

Answer
(1 mark)
(b)  For which position were two boys
tied?
Answer

(1 mark)

(c) Who was the SLOWEST runner?

Answer

(1 mark)

GO ON TO THE NEXT PAGE
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(d) How long did the race last?
Answer seconds
(1 mark)
(¢) How much longer than the first-
place runner did the slowest boy
take to run the race?
Answer seconds 46.
(1 mark)
DO NOT WRITE HERE | KC (1) AT (2) PS (2) TOTAL (5)
END OF TEST

IF YOU FINISH BEFORE TIME IS CALLED, CHECK YOUR WORK ON THIS TEST.
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